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The f igures in the mght—hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1. Answér any ten questions: | | | 2><10=20
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~d) Drawan IS"curve and interpret it.
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b) Whatwill be the shape of the LM curve if money
demand is interest insensitive?

Wﬂﬁﬁlﬁmﬁﬂﬁw\@ﬁ’t@WLM—@mw@%
[ TA?

| _c) Define 'drowding, out' effect.
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1d)  Distinguish between real and nominal money -
- balances. iy
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What do you mean by money wage rigidity?
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How will the equilibrium income and rate of
interest change if both expansionary fiscal and
monetary policies are adopted?
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Mention any two causes of unemployment.
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- Define 'natural rate of unemployment'.
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- Hoﬁv does the aggregate demand curve shift

when money supply increases?
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How does a supply shock cause inflation in the
country? '
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What do yoﬁ_ mean by demand pull inflation?

‘Show with the help of a diagram.
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"Other things being equal, the larger the effect
of a change in money supply on demand, the
flatter is the IS curve."—Explain.
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Mention four major types of 'ﬁnemployment.
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Why is the aggregate supply curve vertical in
the long run?
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Mention two factors responsible for cost push
inflation. "
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2. Answer any four questions: 5%4=20
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Derive the slope of the aggregate demand curve
and interpret it. |
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Expla_in briefly with a diagram, the adjustment
process that takes place when the economy is
in a disequilibrium position in the IS-LM model.
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c¢) Discuss the effect of an increase in autonomous

investment on equilibrium price and output in

the short run.
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J) ~ adaptive and rationai expéctation
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: i) cyclical and frictional unernployment
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e) Briefly discuss the effect of wage cut policy on

unemployment
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“_A - “Write a short note on cost of inflation.
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3. An-swer any two questions: 10x2=20
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Derive the Balanced Budget Multiplier (BBM)
in IS-LM model. Why is the value of BBM in

IS-LM less than the value of BBM in SKM

model? ! 6+4
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Make a comparative analysis of the
efféctivencss of fiscal and monetary Policies
in the IS-LM model. . 10
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' Dfn:_;i_ve' the aggregate supply curve in the

following cases: 5+5
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i)  fixed money wage and

/oA e Tgar 9.
ii) flexible money wage.

TR S el |

[5] [Turn Over]




d)

Explain the trade-off between inflation and

unemployment described in the short-run

* Phillips Curve. How is the long run Phillips

curve derived from the short run Phillips curve?
| 5+5
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